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3G o777 4 33 797 & | ¥t 3v7 37391 & 1

Jo793 Giq @US] 7 G957 8 — @ &, @, T, T AT F |

GUE & — J97 G&IT 1 & 16 7% Tglabch1d FbR & J97 8 | 9% F97 1 3% BT 8 |

GUE &G — v G&IT 17 & 21 7% 37 TG IF0T FbR & 97 & | I 97 2 371

FTE I

G T — 597 G 22 & 28 7% TG ITIT IR 3 F97 & | I J97 3 3H] H13 |
GUE T — 97 GE&IT 29 7T 30 G ITETRT F97 8 | Jcd% Jo7 4 375 1 & |
GUE T — J97 G671 31 T 33 T FT1T YR & J97 5 | I J97 5 b1 H1 8 |

77T 8 GHF faeheq 81 1397 T 8 | TEI, @S % 3 AR 3 @S] & P Jo1

7 3R b eq &7 597 [T T & |
77 & o6 GICTIIeIT GR8TTeRT & 177 31677 997 & |
SeTpcIet HT I AT & |

gug —<h 16 x1=16

T T 1 Y 16 % Tgaehod 1T TR oh 1 37h o T ¢ |

1. AP 3R SO Al i Hiek AR =Teiehdd a2: 189 S cm? mol ! T 160
S ecm? mol~1 & | AL,(SO ), 3! HHTd Wi = Tewehel 1 HH B ;

(A) 198 S cm? mol™! (B) 858 S cm? mol!

(C) 588 S cm? mol! (D) 891 S cm? mol™!
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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are
compulsory.

(i) Question paper is divided into FIVE sections — Section A, B, C, D
and E.

(i11) Section A - question number 1 to 16 are multiple choice type

questions. Each question carries 1 mark.

(tv) Section B - question number 17 to 21 are very short answer type

questions. Each question carries 2 marks.

(v) Section C - question number 22 to 28 are short answer type questions.

Each question carries 3 marks.

(vi) Section D - question number 29 and 30 are case-based questions.
Each question carries 4 marks.

(vit) Section E — question number 31 to 33 are long answer type questions.
Each question carries § marks.

(viit) There is no overall choice given in the question paper. However, an
internal choice has been provided in few questions in all the Sections

except Section —A.

(ix) Kindly note that there is a separate question paper for Visually

Impaired candidates.

(x) Use of calculator is NOT allowed.

SECTION - A 16 x1=16

Question No. 1 to 16 are Multiple Choice type questions carrying 1 mark each.

1.

56/4/3/21 3 WAAMAAAAAAAAAAAAAAANA P.T.O.

The molar ionic conductivities of Al3* and SOi‘ are 189 S em?2 mol~! and

160 S cm?2 mol™! respectively. The value of limiting molar conductivity of

AL,(S0,); will be :

(A) 198 S cm? mol™! (B) 858 S cm? mol!
(C) 588 S cm? mol! (D) 891 S cm? mol™!
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2. TmAfafad snti & @ & foerfim C i fefud s ?
(A) Tbfn 3 (B) TephITeh 3T
(C) UEehlfeeh 3TFA (D) SIIgh 3A

3. Ufcegmsel % fated o foTe UsHyvue STo=H T 81 8 | 39 AR § T SO 8
(A) Pd-BaSO, (B) s AlCL,

(C) A (II1) 3TTdrss (D) HgSO,

4. = Teugu 3d Aol o qcdl § | HIF FATTUH G H TRl STaETE ¢o1iaT & ?
(A) Thiveam (B) TS
(C) it (D) fefrm

5. TafaRga sififsran o fomm il -

H H\

Nc=0+ ‘C=0+wE KOH—2 ,A+B
H/ H/

fe Tu foepedi H & A 3R B 1 vg=r HifSw

(A) A —TdA7d, B — Tiefem wite

(B) A — T, B — Uiefiem wide

(C) A —9%9d, B — tHTeA

(D) A — A, B — Tiefrm vHiee

6.  feu e fomhedi § @ s €1 Ufeshet detrse Sy 1 tfufsman stferes e & s ?
(A) (CH3)3C—B1‘ B) (CH3)2CH—BI'
(C) CH,~CH,-Br (D) (CH,),C-CH,Br
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Which of the following acids represents Vitamin C ?
(A) Saccharic acid (B) Gluconic acid
(C) Ascorbic acid (D) Benzoic acid

Rosenmund reduction is used for the preparation of Aldehydes. The

catalyst used in this reaction is

(A) Pd-BaSO, (B) Anhydrous AlCl,4
(C) Iron (III) oxide (D) HgSO,

From the elements of 3d series given below, which element shows the

maximum number of oxidation states ?
(A) Scandium (B) Manganese
(C) Chromium (D) Titanium

Consider the following reaction :

N Hy A
C=0+ C=0+Conc-KOH—A+B

g/ H/

Identify A and B from the given options :

(A) A — Methanol, B — Potassium formate

(B) A — Ethanol, B — Potassium formate

(C) A —Methanal, B — Ethanol

(D) A — Methanol, B — Potassium acetate

Which alkyl halide from the given options will undergo Sy1 reaction

faster ?
(A) (CHy43C—Br B) (CH,,CH-Br
(C) CH4—CH,—Br (D) (CH343C-CH,—Br

56/4/3/21 5 WAAMAAAAAAAAAAAAAAANA P.T.O.
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7. WAV HS1 oh SR YT 3T Il dTel VAT 1 = 7
( A) A (B) e LEa/RT
(C) K (D) A ¢ Ea/RT

8. feu gu fompeul & @ werfiys VA St Taa™ Hifa ;
(A) (C,Hy),N (B) (C,H,),NH

(C) C,H,NH, (D) (CH,),N

9.  d-so7feh dcall b1 GTHTT Soleeii-Ieh ToaTd 2 :
@) @-1)d"nsl (B) (-1)d!%ns!2

© @-1)dPns® (D) (1) dns?

10. < g2 SAMTsRaai < foru stfienteni o w1 gafoaa it :

[. ST Tehigidl o Ufcsasel § 3Tl (p) NaBH,

1. SYH-2-3TH § FA-2-3TA (@) 440 K T 85% HiThIieh 37
III. 6HAHT 2, 4, 6-ZRFHGAIA T SHT ) PCC
IV. WU=-2-317c o1 9idia | fFsiefientor (s) SHH S

@A) I-@), II-(p), II-(s), IV- (0
B) I- (@, I- (@), OI - (p), IV-(s)
©€) T—(9), - (g, - (), IV-(x)

D) I-(@), II—(s), I - (), IV-(q)

56/4/3/21 6 WAAMAAAAAAAAMAAAAAAAAAA
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activation energy is :
( A) A (B) e—Ea/RT
(C) K (D) A e Ea/RT

8. Identify the primary amine from the given options :
(A) (C,H;)sN B) (C,H;),NH

(©) C,H,NH, (D) (CH,y),N

9. The general electronic configuration of d-block elements is :

@) @-1)d"nsl (B) (-1)d!%ns!2
© (@-1)dPns* (D) (-1)d’ns!2

10. Match the reagents required for the given reactions :

I.  Oxidation of primary alcohols to (p) NaBH,
aldehydes

The fraction of molecules having energy equal to or greater than

II. Butan-2-one to Butan-2-ol (1) 85% phosphoric acid at 440 K

III. Bromination of Phenol to 2, 4, 6- (r) PCC

Tribromophenol

IV. Dehydration of propan-2-ol to (s) Bromine water

propene
A) I-(@), - (), III-(s), IV-(q)
B) I-(@), I-@), - (@), IV-(s)
©) I-(s), I -(q), III-(), IV—-(r)
D) I-(@), II—-(s), I - (), IV-(q)

56/4/3/21 7 WAAMAAAAAAAAMAAAAAAAAAA
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11. s eife shi 3rfufsran o foru feu g o A gTet 31K 37d-@e & :

%ﬁ

T
£
ﬁ

0 0y —
(A) < =k, J0:@sE = [R],

B) @™ =-k, 3a:@s = [R],
(C) @ = k/2.303, 3a:@s = In[R],

D) & =-k/2.303, 3Ia@T@E =1n A

12. A § MRIR 31t 61 FTe STTfRT o uvETd ad 3Tl g Sastaaed | i
el 8
(A) TehH (B) wrfhe T
(C) Tk Teahlarel (D) fediaeh Teenielet
TR AT 13 § 16 % g, 31 e fou u @ — 5w 1 stfirepem (A) den g
ST (R) g1 3ifha fomam T 2 | 39 T o Tt SR A feu musbrei (A), (B), (C) 31K
(D) ¥ A R G |
(A) 3T (A) 3T FHRU (R) ST H& & 3R HRW (R), 3AWHeA (A) i T€1 =@

HTE |

(B) e (A) 3R HRO (R) QHI H&l 8, g R0 (R), 3epem (A) 61 €&l

ST T81 hidl © |

(C) YA (A) Tl B, T RN (R) T 2 |
(D) AMH (A) TAd &, Tog R (R) T 2 |

56/4/3/21 8 WAAMAAAAAAAAMAAAAAAAAAA



11. In a given graph of zero order reaction, the slope and intercept are :

—

Concentration
of R

0 Time —

(A) Slope =k, Intercept = [R],
(B) Slope = —k, Intercept = [R],
(C) Slope = k/2.303, Intercept = In[R],

(D) Slope =-k/2.303, Intercept =In A

12. Nucleophilic addition of Grignard reagent to ketones followed by
hydrolysis with dilute acids forms :

(A) Alkene (B) Primary alcohol
(C) Tertiary alcohol (D) Secondary alcohol

For questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
56/4/3/21 9 AAAAAAAAAAAAAAAAAANAA, P.T.O.



13.

14.

15.

16.

17.

18.

19.

ARHUT (A) : VehTglatl I g1 H BT JaeTa 37 ¢ |
HROT (R) : FHATES 3T 61 GoiFT H UeehiaTss SR 37feeh Trf gar 7 |

AHYT (A) : 39 3 & fT, Zn/ZnZ*(AM) || CuZt (IM)/Cu S E° 8= 1.1V
7, e faudia amer fovar 1.1 V @ 31fees 2, d1 39 Cu ¥ Zn 1 3R JaT8 &
A E |

HROT (R) : T T Hea-! Ut <hY Wi 1 Har 2 |

AR (A) : TINZH A Thiee — ShTaH Tfera Tghia T8 i 8 |
SR (R) : SrEiead 9g HShIeh 9g 8 U0 3oRe T FNEs heEiedd 998
Y ITE-rd 81 ST ¢ |

AHYT (A) : IS Teh U= 3T B |
HIT (R) : ek, ®fedtT farea 3R 2iea st1fierdes o1 srafud Tdi tar 2 |
g -
Trferfaa wet <A1 uftam ferfa -
(2) U (t5)
(b) T FEE 1x2

250 g o1 ¥ fopelt SraTsaefict foe™ @ 60 g Hieteht &1 foe@d 270.67 K W fewfig gran
8 | TorcT o HIeR G o1 IRehoM I (I  feg K, = 1.86 K kg mol ™). 2

frforfiaa 2ifiept § @ 1 S 1 il g 3tferes dierar @ srfifsman spam i i ?

CH,

|
(a) CH;- (|3 — Br 31y« CH4,CH,, Br
CH,4

56/4/3/21 10 WAAAAAAAAAAANMAAAAAAAAA



13. Assertion (A) : Phenols are stronger acids than alcohols.

Reason (R) : Alkoxide ion is more stable than phenoxide ion.

14. Assertion (A) : For a Daniell cell, Zn/Zn2*(1M) || Cu?* (IM)/Cu with
E°cell = 1.1 V, if the external opposing potential is more than 1.1 V,
the electrons flow from Cu to Zn.

Reason (R) : Cell acts like a galvanic cell.

15. Assertion (A) : Benzoic acid does not undergo Friedel — Crafts reaction.
Reason (R) : Carboxyl group is deactivating and the catalyst aluminium

chloride gets bonded to the carboxyl group.

16. Assertion (A) : Fructose is a reducing sugar.
Reason (R) : Fructose does not reduce Fehling solution and Tollen’s

reagent.

SECTION - B
17. Define the following terms :
(a) Half life period (t;,,)
(b) Effective collisions 1x2

18. A solution containing 60 g of a non-volatile solute in 250 g of water freezes
at 270.67 K. Calculate the molar mass of the solute. (K; of water = 1.86 K

kg mol™1). 2

19. Which of the following compounds will react more rapidly by Sy 1 reaction

and why ?
CH,

(@) CHj4-— % —Br or CH,;CH, Br
CH,

56/4/3/21 11 WAAMAAAAAAAAAAAAAAANA P.T.O.



21.

22.

23.

56/4/3/21

(b)

. (a)

(b)

(a)

(b)

(a)

(b)
(©)

FTcTRad AfTeh] 1 ek FALFRI o TGd 3HH H SeEd HINTT -

SR, SESIHH, TS, STHHST 1x2
HIEIe AR 7 ATt s Affsranst o fore gewr: foranfafér fafew | 2
HYET

3119 f=ferfad sura S8 geg=1 i ?

(i) TR | SIIgeh 3T

(i) TIHTA ¥ 3-FTEEiFRNSAA 1x2

FT BT & TS b AT3Ieeh T oh |1 ATIRAT HIaT & 7 THRIh FHIR
forfam |

DNA 3R RNA % 9 Ush GGaTcq AR fefau | 1x2
Tug -1
fou gU Hpet o SMTHA AHTaa SHTST :
[Pt(NH,),CL]%*
d5 31T 1 Seragit-eh fomam fafau afg A < P 2 |
39t formg = g 2 1x3

frtetiaa stirteransti < forg Temafes geffertr fafey (18 o il 1)

(a)
(b)
(©)
(d)

HESIEINEE I Cicau IR Eo)|

fafereram e

UfTETeT 1 ThIST — ShTHeH Ufeshor

TER-EHA TSR 1x3

12 WAAMAAAARAAAANAAAAAAAAA,



(b) Arrange the following compounds in the increasing order of their

boiling points :

Bromoform, Dibromomethane, Chloromethane, Bromomethane 1x2

20. (a) Write the stepwise mechanism of nucleophilic addition reactions in

the carbonyl compounds. 2
OR
(b) How will you convert the following :
(1) Toluene to benzoic acid.

(11) Ethanol to 3-Hydroxybutanal 1x2

21. (a) What happens when Glucose reacts with Nitric acid ? Write chemical

equation.

(b) Write one structural difference between DNA and RNA. 1x2

SECTION - C

22. (a) Draw the geometrical isomers of the given complex :
[Pt(NH,5),CL) 2+
(b) Write the electronic configuration of d® ion if Ay <P.

(¢) What is an ambidentate ligand ? 1x3

23. Write chemical equations for the following reactions : (Do any three)
(a) Hydroboration — oxidation reaction
(b) Williamson Synthesis
(¢) Friedel-Crafts Alkylation of Anisole

(d) Reimer-Tiemann Reaction 1x3

56/4/3/21 13 WAAMAAAAAAAAAAAAAAANA P.T.O.



24. (a) FefeRaa el it forive et 3 fore wamaties whem AR -

25.

26.

27.

28.

56/4/3/21

() ThiFIT 3T S=ligeh 3

(i) TS TR I

(b) Tou gu Afesi # A S T 37 g R H ?

CH,FCH,CH,COOH a1 CH,CHFCH,COOH 2+1

gurisu foh wom whife <1 siffshan # 99.9% tfwfshan of B o o wmr srfufsran i
G (t,,,) T 10 & 2 | [log 2 = 0.3010, log 10 = 1]. 3

ffcTRaa el &t afeam feRa ;

(a)
(b)
(©)

(a)

(b)

(©)

TATSh T3S 9
M <hl TTeifies ST
EECEIES] 1x3

feu gu Aifiren w1 3178 9t T i 9 fafae
CH, = CH — CH,,— CH, — Cl

UeehIBIall H Ufcehol 8Tl oh ToEd oh Tl TS FIRISS ohl UTATHehdT o1 <l
ST R ?

T BT & 3o Wi stHrse KCN <6 91 311 {shat hian g ? 1x3

25 °C R f=fafigd 91 1 emf aferfcra $ifse -

Sn/Sn?* (0.001M) || H* (0.01 M) | Hy o (1 bar)/Pt g,

fezn & : E°(Sn2*/Sn) = —0.14 V, E° H'/H, = 0.00 V (log 10 = 1) 3

14 WAAMAAAARAAAANAAAAAAAAA,



24.

25.

26.

27.

28.

(a) Give chemical tests to distinguish between the following pairs of

compounds :
(1) Phenol and Benzoic acid
(11) Propanal and Propanone

(b) Which one of the given compounds is a stronger acid and why ?

CH,FCH,CH,COOH or CH,CHFCH,COOH 2+1

Show that the time required for 99.9% completion in a first order reaction

is 10 times of half-life (t,,,) of the reaction [log 2 = 0.3010, log 10 = 1]. 3

Define the following terms :
(a) Glycosidic linkage
(b) Primary structure of protein

(¢) Disaccharides 1x3

(a) Write the IUPAC name of the given compound :
CH, =CH -CH,-CH, - Cl
(b) Why is thionyl chloride preferred for preparing alkyl halides from
alcohols ?

(¢) What happens when Methyl bromide reacts with KCN ? 1x3

Calculate emf of the following cell at 25 °C :

Sn/Sn2* (0.001 M) [|H* (0.01 M) |H,,_.(1 bar)| Pt

2(g)

Given : E°(Sn?*/Sn) =-0.14 V, E° H*/H, = 0.00 V (log 10 = 1) 3

56/4/3/21 15 WAAMAAAAAAAAAAAAAAANA P.T.O.
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fraferfad ge Fa-3menia 97 § | S B e ufeu 37K fou Tu yw= % SR T |

29. ool I W, telow srtufsran 6 Temfe o, faga S § ufefda g 8, et
JgasTTEe I H oy e vaTtad i W i ik gt & | Tera oot I |
Zn B8 %I ZnSO , forem o Tl 31l & 3R Cu 88 1 CuSO,, e § @ Sl § |
THT TSI T dlecHIet o ATEH ¥ YTfcdeh R gRT SIS ST 8 | SHT forer@al sl ofaT 3
BRI SIST 11T 2 | gHT Soiareiel o Solaeis fawal & 3Tk &l Igd 918 oo (emf) Hal
ST ] | SEgasTaeed sk H faepd 9 yanfEd o W uered 1 319eed gt @ | fohet 3w
T ¥ ek e forega STmaw yanfEd e R fguaiers 3m S| Cut o 31t O faafa
B T | TEuy SgasTTee 190 o €9 § HUS | 36 Teg fohar o |

FrfeTRerd swAT o ST i ;

(a) Toot e U 90T 8 1 1 T @ ?
(b) T U el Teh SEATTE! T i WiTd TR Tl & ?

(c) 1 TS T o7 59 H IR Tcthe faera WeTia fopam S a1 8 7 E° 0T & AH
61 TEAT § ST I |

(E° Cu2t/Cu=0.34V)
(E°Zn2t/Zn=-0.76 V)

CUE

(c) Trafafgas sroeem o fau foraw Hue sTew 1 sTervaehar grft 2
i 1% MnO, % Mn?*H
(i) 19« H,0%10,4

56/4/3/21 16 WAAAAAAAAAAANMAAAAAAAAA



The following questions are case-based questions. Read the case carefully and

SECTION -D

answer the questions that follow.

29. In a galvanic cell, chemical energy of a redox reaction is converted into
electrical energy, whereas in an electrolytic cell the redox reaction occurs
on passing electricity. The simplest galvanic cell is in which Zn rod is

placed in a solution of ZnSO, and Cu rod is placed in a solution of CuSO,.

The two rods are connected by a metallic wire through a voltmeter. The
two solutions are joined by a salt bridge. The difference between the two
electrode potentials of the two electrodes is known as electromotive force.
In the process of electrolysis, the decomposition of a substance takes place
by passing an electric current. One mole of electric charge when passed
through a cell will discharge half a mole of a divalent metal ion such as

Cu?". This was first formulated by Faraday in the form of laws of

electrolysis.

Answer the following questions :

(a) What is the function of a salt bridge in a galvanic cell ? 1
(b) When does galvanic cell behave like an electrolytic cell ? 1

(¢c) Can copper sulphate solution be stored in a pot made of zinc ?

Explain with the help of the value of E° cell.

(E° Cu?*/Cu=0.34V)

(E° Zn%*" /Zn =-0.76 V) 2
OR

(¢c) How much charge in terms of Faraday is required for the following :

(i) 1molof MnO, to Mn2*

(i) 1 molof H,O to O, 2

56/4/3/21 17 WAAMAAAAAAAAAAAAAAANA P.T.O.



30. SUHGHAISH AR T STTEEA hl Tehidl, HLET hl AT HAShdl A& g g B
§G T 1 ST Hehdll & | hrad 9T T/ ITHEHASH G < seR & Hhefeh
JUCTSH A & | T ok IUFH TTAIUSTR h&Teh (s, p IR d) HehNd Hileh HIvad SATHia
S T gude!, TqeheTehid Td TE-heleh 1T 3AT(G o THeheT hefeh] o U= od & | T

USl gegdIseh ITEY qHl Sd1 8 e h&feh 3T1eehdd STfdedTdd shid & | iUl §

gfarfera d-sete a1 a1 AR d-heeh A (n—1) d AU 9l d-h&Feh A nd &

Tohd & | 39 YhR Ffifa dpat shuwT: 3TTaieh ek Tt (T S=Ishul depet) 3R aTel
eIk THA (3T TAhT TH) Hald & | FHeh SR ol shl Jehid STTIFh I
a1 Ufagraehi gl Wehdl & | 39 fagra 1 Siar 8 foh 36 3Rl shod e affifera &
AT IE Hepel o TT shT SHREAT T L AT 2 |

frefafaad st < 3 e
(a) T HITT foh [CoF ]~ Siagrarchid & A STTFaehid, 3 R ?

[TTHT] 3R : Co = 27] 1
(b) [Co(en), CL,J* H Co i ITEEEATS HEA 1 8 ? 1

() () Teugedgpa wams Y@t wH am fafe
[Pt(NH,),CL,]%*
(i) [Co(NHy)g] 3" Ueh AN hefeh AU STel H&eh el &, A I | 1+ 1

CILE]]

(c) TSRl oY g o IR W [Ni(NH,) ]2+ 31 SArhld qem eptet 1 e
HIfer |
[ICHTO] SR : Ni = 28] 2

56/4/3/21 18 WAAAAAAAAAAANMAAAAAAAAA



30. The nature of bonding, structure of the coordination compound can be
explained to some extent by valence bond theory. The central metal
atom/ion makes available a number of vacant orbitals equal to its
coordination number. The appropriate atomic orbitals (s, p and d) of the
metal hybridise to give a set of equivalent orbitals of definite geometry
such as square planar, tetrahedral, octahedral and so on. A strong
covalent bond is formed only when the orbitals overlap to the maximum
extent. The d-orbitals involved in the hybridisation may be either inner
d-orbitals i.e. (n—1) d or outer d-orbitals i.e. nd. The complexes formed are
called inner orbital complex (low spin complex) and outer orbital complex
(high spin complex) respectively. Further, the complexes can be
paramagnetic or diamagnetic in nature. The drawbacks of this theory are
that this involves number of assumptions and also does not explain the

colour of the complex.
Answer the following questions :

(@) Predict whether [CoF] 3- is diamagnetic or paramagnetic and why ?

[Atomic number : Co = 27] 1

(b) What is the coordination number of Co in [Co(en), Clz]+ ? 1
(¢) (1) Write the IUPAC name of the given complex :
[Pt(NH,;),CL)] 2+

(1) Explain [Co(NH3)6]3+ 1s an inner orbital or outer orbital

complex. 1+1
OR

(¢) Using valence bond theory, deduce the shape and hybridisation of
[N1i(NH )] 2+ [Atomic number of Ni = 28] 2
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31. (a) C,H,ON 3fUseh &3 1 I3 THIES ‘A’ BIHAM simTHTsS fmfiestor rffsman gra
Ui B edr B | 273-278 K W ‘B, 8eH 30 & T AR T &b ‘¢’ 31
FAHH qAT T Teteh TNRM BEgTTss o 1Y MRl &t ‘D’ s 2 |
‘C’ UATA & Ty AMTRRA ek B e 7 | ‘A%, B, ‘¢ D’ 3R CE Hl ugeH
ST a1 TETeS THIh o TIHT I TR | 5
JAYET
®b) @) (1) e rfieds e ?

2) frafafaa et o1 9 grawen d 6 agdt 55 AT amed §
TR ShITT

C,H,NH,, (C,H,); N, (C,H,), NH
Gi) Tr=feafea s sror e
(1) el <t gorn & aftrer Wi srftes ameha g |

(2) UfaelA, s a1 o o fear o SAfIfshan sk 2, 4, 6-2rgsim
e &t 2 |

(3) Tfrareh Ui Y o | Tfies THAT S FeeTh IH B ¢ | 2+3

32. Tr=fefaa o & fereel aa wea1 & IR T :
(a) TSI =1 TeRAOT dcdt 1 TET THT ST & 2
(b) AT STHa TS ?
() T Y gt & shiftrm Y werm 3rRee Tedt frar o°1i Bt & 2
(d) FHAT dcdl AT ITH IS BId 8 2
(e) HSHHUT LT3 < ATk FHIG: TAF 8 8 | SRo G |
(® KMnO, W& K,MnO, ! goi1 H, I |1 Th HAJLrelh1a 7, Rl ?
(9) Trfefaa smmafaes et qut Hifu -

Cr,02" + 14H" + 6e"—> 1x5
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31. (a)

(b)

SECTION - E
An amide ‘A’ with molecular formula C.H-ON undergoes Hoffmann
Bromamide degradation reaction to give amine ‘B’. B’ on treatment
with nitrous acid at 273-278 K form ‘C’ and on treatment with
chloroform and ethanolic potassium hydroxide forms ‘D’. ‘C’ on
treatment, with ethanol gives ‘E’. Identify ‘A’, ‘B’, ‘C’ ‘D’ and ‘E.” and
write the sequence of chemical equations. 5
OR
(1) (1) What is Hinsberg’s reagent ?
(2) Arrange the following compounds in the increasing order

of their basic strength in gaseous phase :

C,H,NH,, (C,H;); N, (C,Hy), NH
(1) Give reasons for the following :

(1) Methyl amine is more basic than aniline.

(2) Aniline readily reacts with bromine water to give 2, 4, 6-

tribromoaniline.

(3) Primary amines have higher boiling points than tertiary

amines. 2+3

32. Attempt any five of the following :

(a)
(b)
(©)
(d)
(e)
(®

(2

56/4/3/21

Why Zinc is not regarded as a transition element ?

What is Lanthanoid contraction ?

Why 1is first ionization enthalpy of chromium lower than that of Zn ?
Why are transition elements good catalysts ?

Compounds of transition metals are generally coloured. Give reason.

Out of KMnO, and K,MnO,, which one is paramagnetic and why ?
Complete the following ionic equation :
Cr,02" + 14 H" + 6e"— 1x5
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33. (a)

(b)

56/4/3/21

@
(i1)

(iii)

@

(i)
(iid)

it ST o1 TR ShiferT |
St wefist < fofu 7 Se1 i gatT 38 St H &1 3A14eh STueRe w1
g7

303 KW 100 g T H 2 g 7™ (M = 180 g mol 1) ! Hieieht forereH
TR T | AfG 303 K T I[E 9Iet o1 9717 g1 32.8 mm Hg 2 a1 forered 1
1S9 TS AT BT 2 1+1+3

YA

TS 3TFA oh SwiH H Hle 9K T < b a0e §Th 0Teh Teh & A
BNTT A1 ST |

TSt forera <Y it fefay |

CaCl, (AR ge™M = 111 g mol™!) % 38 GWM 1 Iiehe shitsg f8
500 g 9T 4 foefa & W feums & 2K &1 & &1 AU, I8 AHd 8¢ b
CaCl, %1 i faeH g1 2 | 1+1+3

(@ % feTe K, = 1.86 K kg mol ™)
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33. (a)
(b)
56/4/3/21

(1) Define reverse osmosis.

(i1) Why are aquatic species more comfortable in cold water in

comparison to warm water ?
(iii) A solution containing 2 g of glucose (M = 180 g mol1) in 100 g of
water is prepared at 303 K. If the vapour pressure of pure water

at 303 K is 32.8 mm Hg, what would be the vapour pressure of

the solution ? 1+1+3

OR
(1) Predict whether Van’t Hoff factor will be less or greater than

one, when Ethanoic acid is dissolved in benzene.
(1) Define ideal solution.

(iii) Calculate the mass of CaCl, (molar mass = 111 g mol1) to be

dissolved in 500 g of water to lower its freezing point by 2K,

assuming that CaCl, undergoes complete dissociation. 1+1+3

(K, for water = 1.86 K kg mol™)
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